Question 2 (5 marks)

Read the extract, and then, by analysing its grammatical features, answer the questions on

page S,

The words in the extract in bold italics are referred to in the questions (a) to (j).

Si te iam, Catiling, comprehendi, si interfici iussero, credo, erit
verendum mihi, ne non potius hoc omnes boni serius a me quam
quisquam crudelius factum esse dicat. Verum ego hoc, quod iam
pridem factum essc oportuit, certa de causa nondum adducor ut faciam.
Tum denique interficiere, cum iam nemo tam improbus, tam perditus,
tam fui similis invenin poterit, qui id non iure factum esse fateatur. (5)

Question 2 (continued)

(a)  What form of the verb is
comprehendi 7
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Question 2a: % answers correct by band range
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The table and graph show, for the groups of students whose marks in the examination
corresponded to the borderline between two bands, what percentages of each group
selected the responses A, B, C and D. N is used to identify: No valid response.

Note that apparent anomalies in the table and graph, such as 0% or 100% of students
choosing a particular response, can occur when there are no students (or very few students)
who scored the particular examination mark associated with that borderline.





